Theory:

{'CKM": '0.97428 0.22530 0.003470 0.22520 "
'0.97345 0.041000 0.00862 0.04030 '

'0.999152",
'‘Comments': 'LO baseline for small-x res',
'‘DAMP': 0,
'‘EScaleVar': 1, Operators:
'FNS': 'FFNS',
'GF': 1.1663787e-05,
'HQ'": 'POLE’,
'B": 0, {'Q2grid": [100],
'1C": 0, '‘backward_inversion': 'expanded’,
'ID": 0, ‘debug_skip_non_singlet': False,
‘MP': 0.938, ‘debug_skip_singlet': False,
:MV\{': 80.398, ‘ev_op _iterations': 1,
.MZ : 91'1.876’ '‘ev_op_max_order': 10,
IMafoAs : 0, ‘hash': 'ff080e6’,
.MaXNﬂ.Dd.f: 6'. 'interpolation_is _log': True,
.MOdl.E.V : 'EXA', 'interpolation_polynomial _degree': 4,
.NfFF..' 3 'interpolation_xgrid': [1e-07,
.PT(.). 0, 1.6102620275609392e-07,
Q0 1.65, 2.592943797404667e-07,
IQED ; 0 4.1753189365604003e-07,
IQedrﬁf: 1.777, 6.723357536499335e-07,
Qmb?: 4.5, 1.0826367338740541e-06,
.ch.: 2.0, 1.7433288221999873e-06,
.th.: 173.07, 2.8072162039411756e-06,
IQref: 9}..2, 4.520353656360241e-06,
.SINZT\.N.' O.'23126' 7.2789538439831465e-06,
ISxOrdI: LL', 1.1721022975334793e-05,
.SXRe..S : 0, 1.8873918221350995e-05,
.TM.C. : 0, 3.039195382313195e-05,
i:; 11(()) 4.893900918477499e-05,
‘alphaged': 0.007496251999999999, ggggigégégiggggg%o;z
‘alphas': 0.11800000000000001, 0.00020433597178569417
‘fact_to_ren_scale_ratio': 1.0, 0,00032903445623126676:
:globz?l_lnx': 0, | 0.0005298316906283707,
Ihash: eo!fbed6, 0.0008531678524172806,
IkDISbThrI: 1.0, 0.0013738237958832637,
IkDIScThrI: 1.0, 0.00221221629107045,
IkDIStTIh.r: 1.0, 0.003562247890262444,
.kahr.: inf, 0.005736152510448681,
.kCThr. inf, 0.009236708571873866,
IktTlhr: inf, 0.014873521072935119,
.mb.: 4.5, 0.02395026619987486,
'mc". 2.0, 0.03856620421163472,
mt': 173.07, 0.06210169418915616,
'nfO': None, 0.1,
'nfref': None} 0.1473684210526316,

0.19473684210526315,
0.24210526315789474,
0.2894736842105263,
0.33684210526315794,
0.38421052631578945,
0.43157894736842106,
0.4789473684210527,
0.5263157894736842,
0.5736842105263158,
0.6210526315789474,
0.6684210526315789,
0.7157894736842105,
0.7631578947368421,
0.8105263157894737,
0.8578947368421053,
0.9052631578947369,
0.9526315789473684,
1.0]}
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